DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

Name:
DIVISION Time: Score: y—
151) 68.642 = 0.7 = 166)  3.4923 + 0.07 =
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3009 + (—5) =
2.636 < 0.02 =
7.383 = (—0.03) =
17640 + 7 =
—241.74 + (—0.3) =
—445.13 + (=7) =
—35.76 + (—0.02) =
207.39 = 3 =

2401 = 10 =
—1918.7 + 0.7 =
234+ 4 =

15.186 = 0.03 =
—7.051 + (—0.01) =

—4208 = (—1) =

Mathematics: Division - Level 6 - Horizontal - Set 2
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0.5949 =+ 0.09 =
345.18 + 0.6 =
—79.11 + 0.1 =
630.98 + (—7) =
357.55 + 0.5 =
3710.7+ 9 =
1772+ 02 =
41.68 + (—1) =
3508+ 1=
—46.942 + 0.7 =
5166 = (—9) =
—0.9324 = 0.03 =
4552 = 8 =

—24992 + 4 =
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